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7 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 365 46.03 | =hs | 000 ~ 365|222 11.23 Zh st 1.00 | 5.00 ~ 5.36 46.03 | ThUS | 5,00 ~ 636 | 2.22 11.23
2 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 726 92,46 | =St | 000 ~ 726 | 1.89 9.66 Zh st 1.00 | 5.00 ~ 9.65 92.46 | ThUS | 5,00 ~ 9.65| 1.89 9.56
3 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.o0 ~ 551 68.74 | FnLS | 000 ~ 551 1.95 9.84 zhLst 1.00 | 5.00 ~ 6.60 68.74 | TS | 6,00 ~ 6.60| 1.95 9.84
4 100kN/m%E#8z5| 1.00 | 000 ~ 1.29| 119.60 |3mEBz5| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1070 ~ 1476 119.60 |3mEEZS - ~ — — —
s 1.00 | 1.29 ~ 908 100.00 | 0S| 0.00 ~ 9.08| 2.28 11.54 zhLst 1.00 | 5.00 ~ 1070 100.00 | =hLst | 6.00 ~ 1476| 2.28 11.54
5 100kN/m%E#8Bz5| 1.00 | 000 ~ 192 129564 |3m&EBzZB| — ~ — — — | 100kN/M%&#82% | 1.00 | 1054 ~ 17.76| 129.54 |3m%E#BZ5 - ~ — — —
s 1.00 | 192 ~ 970 100.00 | #nLSy | 000 ~ 9.70 | 2.35 11.87 st 1.00 | 5.00 ~ 1054 100.00 | =hLSt | 6.00 ~ 1776 | 2.35 11.87
P 100kN/m%E#8z5| 1.00 | 000 ~ 1.29| 11953 |3m&EBzZB| — ~ — — — | 100kN/m%E#Ez25 | 1.00 | 1056 ~ 1480 119.53 |3mEEZ5 - ~ — — —
s 1.00 | 1.29 ~ 907 100.00 | #nLSy | 0.00 ~ 9.07| 215 10.87 FhnLst 1.00 | 6.00 ~ 1056 100.00 | =hLSt | 6,00 ~ 1480 215 10.87
- 100kN/m%E#BZ25| 1.00 | 000 ~ 049| 10727 |3mEEBZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1056 ~ 11.95| 107.27 |3m&E#Bz5 - ~ — — —
Thilst 100|049 ~ 828 100.00| FhLs | 000 ~ 828|215 10.87 TnList 1.00 ] 56,00 ~ 1056 100.00| ThLS | 5,00 ~ 11.95| 2.15 10.87
g 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3mFHEZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 4.06 50.84 | =ns | 0o0o ~ 406|212 10.73 Fhust 1.00 | 6.00 ~ b6.36 50.84 | ThLS | .00 ~ 636 212 10.73
9 100kN/ Mm% A5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mi%#BZ % — - ~ — — |3m#FZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 325 41.49 | =h4 | 000 ~ 325|229 11.66 Fhst 1.00 | 6.00 ~ b6.16 41.49 | =hLS | 6,00 ~ 616 | 2.29 11.56
10 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%#BZ % — - ~ — — |3m#FEZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 371 46.72 | =n4 | 0o0 ~ 371|219 11.07 Fhus 1.00 | 6.00 ~ 524 46.72 | O | .00 ~ 524 219 11.07
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhst ~ ZhnLst ~ st ~ zhst ~




